LiggsRXEmBERRE LR (ITB)

HE WIS Bfr &iE
ZRME 1255 2.6mx2m 2, Tk
icici] 105 2.6mx2m L=, TiF
2.5mx1.5m (853)
o= 2.6mx2m(16ENE BOE A
AkE S2hH 3.5m><2.5m( (853) %)? B, T
2 Emx?2m (20E3)
FIH 35RE 2.6mx2m Fig,
LiEEERXEREARE IIER (BHIE)
HE HIAE Bfr &iE
ZRME 165& 2.5mx1.5m Tism, TkRE
FAH 43BE 3.0mx2.0m BE, 7%
o 2.5mx1.5m (1055 E - =
A S4B 2mx1.5m cél‘ayg?ﬁ;i T, S
PHE 21RE 3m2mOBNE) (12BRE) | T%, FE
LeEERREDERNELER (BExE, &7, BERS+0)
HE HAE Bfr #iE
SE—E 9FEE 4.5mx2m Fig, BE
SE T 1585 4.5mx1.5m FE, 5=
BT % 8RS & 2.5mx2m TR, FEE
REIRS I | 2985 (WE) 2.5mx1.5m Tis|m, TRE




